Legend:













Feedback for entering expressions at nodes:

Key:

$$(\forall x) ((x=a \lor (\exists y)(\neg y=a \& x=y)) \lor (\neg x=b \& \neg x=c))$$

$$(x=a \lor (\exists y)(\neg y=a \& x=y)) \lor (\neg x=b \& \neg x=c)$$

$$(x=a \lor (\exists y)(\neg y=a \& x=y)) ((\neg x=b \& \neg x=c))$$

$$(x=a \lor (\exists y)(\neg y=a \& x=y)) ((\neg x=b \& \neg x=c))$$

$$(x=a \lor (\exists y)(\neg y=a \& x=y)) ((\neg x=b & \neg x=c))$$

$$x=a \lor (\exists y)(\neg y=a \& x=y) ((\neg x=b & \neg x=c))$$

$$x=a \lor (\exists y)(\neg y=a \& x=y) ((\neg x=b & \neg x=c))$$

$$x=a \lor (\exists y)(\neg y=a \& x=y) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y)) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y)) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y)) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y)) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y)) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y)) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y)) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y)) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y)) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y)) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y)) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y)) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y)) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a \& x=y) ((\neg x=b & \neg x=c))$$

$$(x=a & (\exists y)(\neg y=a & (\neg y=a))$$

$$(x=a & (\neg y=a) ((\neg y=a))$$

$$(x=a & (\neg y=a) ((\neg y=a))$$

$$(x=a & (\neg y=a) ((\neg y=a) ((\neg y=a))$$

$$(x=a & (\neg y=a) ((\neg y=a))$$

$$(y=a & (\neg y=a)$$

Feedback is on the next page.

That's right!

Don't forget that the outermost parentheses are added by the application of a syntactic rule, so the outermost parentheses of an expression higher in the tree will not appear again in the branches below.

We never omit outermost parentheses in parse trees, but other than that you have the right formula.

- Sor a binary branch, the left-hand subexpression will always consist of that portion of the original expression between the leftmost outer parenthesis and the connective that was added by the application of the syntactic rule.
- B) For a binary branch, the right-hand subexpression will always consist of that portion of the original expression between the rightmost outer parenthesis and the connective that was added by the application of the syntactic rule.
- For a unary branch corresponding to an application of one of the quantifier rules, the subexpression will always consist of the original expression minus the outermost quantifier that was added by the application of the syntactic rule.
- Por a unary branch corresponding to an application of the rule for negation, the subexpression will always consist of the original expression minus the leftmost negation that was added by the application of the syntactic rule.

Solution:



Atomic terminal nodes are circled in green, and non-well-formed nodes in red (in this case, all the terminal nodes are atomic). Additionally, the main connective of each expression is circled in blue.

Recall that **all** terminal nodes must be classified correctly by the user before the activity is complete.

For reference:

Operator Name	Symbol	Туре
Conjunction	&	Binary
Disjunction	V	Binary
Conditional	\rightarrow	Binary
Negation	7	Unary
Universal Quantifier	(∀x)	Unary
Existential Quantifier	(XE)	Unary



((x=a v (\exists y)(\neg y=a & x=y)) v (\neg x=b & \neg x=c))











